Possible Answers: 1. Wetland: cattail, tule, rice, pond weed, duck, deer, beaver, fish, elk; 2. Ocean: seaweed, phytoplankton, coral, fish, Answers: Red is warm; Yellow is warm; Blue is cool. snuNY yeles Aq pajeatd saniAoe |y

whale, sea star; 3. Lake: grass, coyote brush, tree, fish, squirrel, bird, deer; 4. Mountain: tree, grass, bear, deer, raccoon, mountain lion;

5. Desert: cactus, Joshua tree, snake, lizard, coyote. ’
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Human
Interaction with the
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Wild Wetland Activities

Read the description below to complete the activities.

People go to different environments in California depending on what they want to do. For example, we might hike in
deserts such as Death Valley, but we would not pump water.

California has many wetlands. A wetland is where water meets land. Make a list of the biotic, or living, and the
abiotic, or non-living, items found in a wetland environment. Discuss how each part affects peoples’ activities
around wetlands.

Biotic: Abiotic:
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People can enjoy many fun activities while visiting a wetland. Look at the pictures below. Circle the activities people
can enjoy in wetlands. Put an X through the activities people cannot enjoy in wetlands.

Bird Watch
c
3
1]
3
£
©
: - ) Snorkel
p A Yo AT
é Observe Insects \% \Q,, Nature Journal : .
H Myt fE
5 Whale Watch Learn Plants

Draw a picture of yourself doing the wetland activity you enjoy most.
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Read the following information and complete the activities.

Every living creature needs energy from food to move and grow. Plants are called producers because they use
sunlight to make food for energy. This process is called photosynthesis. Animals are called consumers because
they cannot make their own food for energy. Instead, animals eat plants and other animals for energy. Bacteria and
fungi are called decomposers because they feed on dead matter. Decomposers help recycle nutrients back into the
Soil.

Label each picture below as a producer, consumer, or decomposer.

A food chain is a diagram that shows who eats whom. Plants are always at the bottom of the food chain because
they produce their energy through photosynthesis.

Use the wetland pictures below to create a food chain by placing an arrow that shows which direction the energy
flows between each plant and animal.

In nature, animals eat many different types of food for
energy. This means food chains are connected to each
other. Food chains that are connected make a food web.

Complete the wetland food web shown to the left by
drawing arrows demonstrating which directions the
energy flows.

Discuss how wetland plants and animals are connected
and depend on each other. What would happen if

one of the plants or animals was removed from the
wetland?
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Water Cycle

Wetland Water

Read the description below and follow the directions to learn about the water cycle.

Water is naturally recycled through a process called the water cycle.

All air contains water vapor. Clouds are made when water vapor forms small water droplets
or ice crystals that float in the air. This is called condensation. When clouds condense
further, or make bigger water droplets and ice crystals, they become very heavy and fall

as rain, sleet, or snow from the sky to the earth. This is called precipitation. Once on the
ground, water makes its way into streams, rivers, wetlands, lakes, and the ocean. This part
of the water cycle is called collection. As the sun heats the surface of water, it turns back
into water vapor. This is called evaporation. The water cycle starts over.

Using the bold words from above, label each step of the water cycle shown below.

b*r\
b 2T b ad (\Q/\
&« #* b b b
l bb byb bbb
J S alae S\ b ?
4 . 4 N

Draw a diagram illustrating the water cycle. Be sure to label your diagram with the key words listed above and to
include a wetland as the main source of water collection for your water cycle.

On the back of your diagram, answer the following questions:
What would happen to wetland plants and animals if there was no water?

Why is it important to conserve water?
List 3-6 ways you can conserve water.
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